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g4y I /72 fR (Listening Comprehension)
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Iff 5 22 (Spot Dictation)
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The human body is a remarkable food processor. As an adult, you may consume(S1) a ton of
food per year and still not gain or lose a pound of body weight. You are(S2) harnessing and con-
suming energy through the intricate(S3) of your body in order to remain in energy balance. To
() a given body weight, your energy input must balance your energy output. However, some-
times the(S5) energy balance is upset,and your(S6) body weight will either fall or
(s7) :

The term body image refers to the mental image we have of our own physical appearance, and ( S8)
. Research has revealed that about 40
percent of adult men and 55 percent of adult women are dissatisfied with their current body weight. (S9)
. At the college level, a study found that 85 percent of both male
and female first-year ~ students  desired to change their body weight. ( S10 )
. Thinness is currently an attribute that
females desire highly. Males generally desire muscularity. The vast majority of individuals who want to change
their body weight do it for the sake of appearance; most want to lose excess body fat, while a smaller percentage
of individuals actually want to gain weight.
[&%] Sl over 2 constantly S3 mechanism $4 maintain S5 overall S6 normal S7 increase

S8 It can be influenced by a variety of factors, including how much we weigh, or how that weight is

distributed.
S9 Similar findings have also been reported at the high school level, mainly with female students.
S10 The primary cause of this concern is the value that American society in general assigns to physical

appearance.
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(1) 3HESBS MBS

SHE B2 BR , E B AT — S BB S TR, RO 5 R84 B0 W ) BRAR BT , 40 SRR AT AB 5 T R i
BOiE S R, T RAHE ST S ., TR A MG F 4R , MERR SRR S K KRS . BRRLX IS ¥4 2%
PR — EiE MG H AT -

MEEHERR | HAER S * @ A
2 —# R HME | 1Rk, FiR homework, marks, assignment, grades
e —EREE R A HGE) B ‘borrow, return, fine, renew, due, overdue
RE—ERR | BE W) i how much, price tag, expensive, cheap
E—TAEAR | BRR BRI {514 f22E | letter, address, postage
EE—MRFR | =i G room, reservation, check in, check out
AR | DRk HBIBASEMM | break the rule, fine, policeman
FE—HFIAR | Pl MLTE L take off, flight, stewardess
WA—BEA Eﬁ-.i’z‘ﬁ)? B headache, pain, What’s the matter?
RE—ERR | ARE | B excuse me, How can I...7, Will you tell me...?

B R R LA — X E I B, MANA A RS ), eI ], AT 2 (A], AL M, 48R
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M: I’ll have these shoes. Please tell me how much I owe you.

W: They are $40 a pair and three pairs make a total of $120. But today we offer a 10% discount.

Q: How much does the man have to pay?

A) $120. B) $108. C) $90. D) $40.

PR — R B R, B WA A XA R BF R . X E S, B RN AR, o B
4G RUEE $ 40,3 UEESE $ 120, (H AT 10 % HITTINGE K , Rt $ 108, MASERRT LAE H, T3 A4,
(BB R 3G OB (S B B o HAh , R AT X X 3 45 R0 4 o 1) R, A X 3 T 4 BLABLIN 43 AT R
F X REAERRS AR — A FE A A, BN R ) B R 9 5E AR
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M: I’ ve just got back from the holiday you arranged for me, but I must tell you the hotel was really awful!

It was miles from the sea. The food was awful too. The bed room was dirty.

W :Sorry about that. But it’s not really our fault. The contract does say that the hotel accommodation is

not our responsibility.

Q: Where is this conversation probably taking place?

A) At the airport. B) In a travel agency.
C) In a hotel. D) At the reception desk.

IR T M SR, ZERHE R, 58 i 30t R Rl VA S, Xk G A £ i AR R AN 5 Lo R RS R
S, 30 VA4 7 FR i B R AR R TE [ A T TS P BT . I DGTT A Y, X R AERAT R — B R, T AR ZEDL
3 R AR B AE AU BE R AL , 3k B) o

#1:2000 4E 12 A G XHEFBSFHIEE 2 8
2.W:1I have a complaint to make, sir. I waited 10 minutes at the table before the waiter showed up, and when

I finally got served, I found it was not what I ordered.



M:I’m terribly sorry, Ma’am. It has been unusually busy tonight. As a compensation, your meal will be

free.
Q: Where does the conversation most probably take place?
A) At the information desk. B) In an office. C) In a restaurant. D) At a railway station.

[ER]IC). AR S , TR A 4R X E P AP 5 A HEWT X HE 37 Tl A PR B F BT . R
HEXHE B 9 26887 waiter, serve, order, meal, free &0 F H X2 KA FERE K —BE , #%E C) o

(©F 2/ 5-73:08173 ]

ISR SR % A 58 A S A B9 B IRAANE A, I W85 & A0 B0 Bt N SR A9 BRI . fBGX 28R R, 7T 56
RYE 4 Wk TR AL FR A R 5 6 s B9 42 17 & B XHE R AT RS H A X T ARE, Hlin.
1996 4E 1 A #3465 3CWT J1EBS> Passage 1 FEIEE 11 &,

11. What job did Miss Susan Brown have before she worked as a night nurse in a hospital?

A) She was an office worker. C) She was a cleaner.

B) She was a physician. D) She was a social worker.

ZEESCHF RS 11 BRI RPN A, ZEESRE A MRAY , REEHERHIN. RES
AP T “office cleaner” XA~ 4 ia)iE , BREEHIMT IEM I ERE C).

@ FEEXRE
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1998 4F 1 H X iE#EBSr#I5E 5 /M,

W : Take a seat, Mr. Brown. Could you tell me which position you think most appeals to you?

M: Well,as for me, I prefer to take the post of sales manager if you think I’ m qualified.

Q: What’s the man’s purpose in meeting the woman?

A) To find out her position in the company. C) To offer her a position in the company.
B) To apply for a job. D) To make an appointment with the sales manager.

ZIBR T iEE X R, FEXIER , B i 946 B Se 4 Bk 2B AU BRAL, 7 B So Ak B & Bk (E
BELBNIRG . BILE N, HER LR EIRE i B eAs R EEIRE , A RERA Mg ERE W
KFRo HI, AT LAHERR H Al T PRI, #E EFERZ B)o

4N :2000 4F 12 A X iEER 4T ISR 9 /ML
9. W:Sorry I didn’t come yesterday, because I had a temperature. Could you tell me your requirments for my

termpaper?

M: The theme of your paper can be about business management or touring resources in China, and the length
of your paper should be no less than 15 pages.

Q:What is the most probable relationship between the two speakers?

A) Manager and employee. C) Guide and tourist.

B) Salesman and customer. D) Professor and student.

[BRID). XiEHEXRL., L -UiMrER b T 2P BAEN , 8] 5 X KR XA MER . B3
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T TR R S X X B N A A . ISR SR S A AR NHE B9 P A R ST UL TE S EE
HOHB RE%. BRAMREAERE:

What does the man/woman mean?

What do we learn from the conversation?

What conclusion can we draw from the conversation?

4n 1999 4E 1 A & HBXEER S RIS 4 /M8

M: If you are in a hurry, you can take the subway. If you want to go sightseeing, take a bus.

W : Actually, I don’t have to be at the conference before noon.

Q: What will the woman probably do?

A) Hurry to the conference. C) Take the subway.
B) Skip the conference. D) Take a bus.

TR T R WA, B 9 BRI A BRI NTRE . R E R B AERBE L LIREN A
2%, HE0 i BT AR S AT 4 , 1558 A R SeAERT (E DL X TR AL Hb Bk, IR AE &, B — T AL L
HIKESF , L+ EI%: “1 don’ t have to be at the conference before noon. ” (A UFEFFRIIEH RIS W ER
) FHHZRE, “RIFAKERTE], “FRAT LAFRAL A IR EMIE— T & 7R 35 LA _EHEWT, FIEBEFEN D)
KHIEFER, MX—EE, RATAT LAFE B, B S B A iRl sl 4] , (B A0SR B8 X X E N A B i g 38
fRERIRYF T “in a hurry” , “take the subway” , “go sightseeing” , “take a bus”, “before noon” % &8 17)1% , LR
HEVE H IER AR, X — S EER, ZBERE BRIART B B, S EE LML
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9.M:1 think I’m going to give up playing tennis. I lost again today.
W:Just because you lost, is that the reason to quit?
Q: What does the woman imply?
A) The man should take up a hobby. C) The man should stick to what he’s doing.
B) The man should stop playing tennis. D) The man should find the cause for his failure.
[&R] O, i@ﬂﬂﬁt'—‘%ﬂi?ﬁwﬁ#ﬁAﬁ%ﬂﬁﬁo BEU, “RERZIEFITRIR T (R ®AS K
XHET "R T —4], WULE H# T » X T B JCFE ) 3 g NG9 T I, LA K B+ R IRE T
E, M ONERESR,
(Z)WﬁEHQZﬂﬁ(HIﬂBﬁ')Eﬁﬁﬁ
VAT AR T 6 b LA R, X 6 ﬁEﬂK{ZiﬁiﬁT)ﬁﬁ"ﬁﬁ%ﬁjﬁﬂiﬁﬁi?"ﬁi"ﬁﬁ%
oo %TI«JJ:E&&I*,E)‘Cﬁ%ﬁﬁgfﬁlgﬁ#’i&%&&ﬂFPL‘EZEJ’E%‘iﬁiiﬁ%ﬁ)ﬁeiﬁﬂ‘ﬂﬁlﬂﬂ‘]m,ﬁﬁ
i&ﬁﬁi*%—%ﬂﬁgiﬁﬁﬁﬂgﬁﬁ%§o Mﬁﬂiﬁiélﬂﬂ‘]ﬁ‘ﬁ%g,ﬁ)‘("ﬁﬂ%ﬁﬁ%étﬂﬁ
EMEERA, FERH TRXIEIT H R gl X L Eu R o E (O N o P2, R —uu
BIAE LM T, BRERAR E R Ay s prss, ﬁ&ﬁ‘élﬂ@%?%ﬂzﬁ%ﬁtZﬁﬁﬁﬁ‘ﬁﬂi& < HOER R G 0y
L“l‘iLﬁﬁiﬂEﬁ"ﬁjJ%EE.E%%J&E*EE??E%E%,& H C B HE N SME A 155 FE A
XA A,
Bl :1998 4 1 A G B =R,
On 15th, Feb, 1989 an instant survey was carried out among 18 overseas postgraduate students. 11 students
were male and 7 were female. The purpose of the survey was to discover the views of the students on a number

Sixty-one percent of the students selected the age group 26 to 30 years as ideal for marriage, followed by 21 to
25 year. In looking at the most important qualities in an ideal partner, someone hoped the person to be Intelli-
gent,others chose Natural, still others indicated Attractive and Honest. The ideal number of children was 2, fol-
lowed by 3. It is not easy to reach any definite conclusion based upon such a small sample of students from such
widely different backgrounds. However, it is clear that majority favorite of 26 to 30 is the ideal age to get mar-
ried with an intelligent partner, and producing 2 children.

17.A) 18 American undergraduates. C) 18 overseas undergraduates.
B) 18 American postgraduates. D) 18 overseas postgraduates.
18.A) Family relations. C) Family planning.
B) Social problems. D) Personal matters.
19.A) Red B) Blue C) Green D) Purple

20.A) The five questions were not well designed. C) Only a small number of students were surveyed.
B) Not all the questionnaires were returned. D) Some of the answers to the questions were not valid.

[f&#7) f?&ﬁ’ﬁ)‘(ﬁﬁfﬁﬁ,i"&%‘ﬁi%,iﬁ’ﬁﬂﬂﬂgﬁﬁg,#i}ﬁﬁﬁl%‘,@ﬁﬂﬁﬂﬁﬂﬂﬂﬂﬁ*ﬁ"ﬁ
T Bk g 5 S ek ﬁﬁ%%ﬁﬂ?ﬁ&ﬂﬁgiﬁﬂﬂﬁ RGN, BRIk s AR SR AR X 48
HIEFAE SR,

S CHEIEE 17 /8 : “Who were involved in this instant survey?” A& -— N 4 45 45, NSRS A R A A —
4] :0n 15th Feb, 1989 an instant survey was carried out among 18 overseas postgraduate students, 11 students
were male and 7 were female. "#Eﬁﬁlﬁi'ﬁ]*ﬂg*ﬁﬂ overseas postgraduates , A 2, 33 38 Bk 0 7] i fie T

[/hag) MR T XA B, ded8 £ 439 ,>ﬁ%ﬁai%%$ﬁ.&ﬁﬁﬁﬂﬁﬁﬁiﬁﬂﬂ PR+ HFE
oS

FESCHAIES 18 B : “What do the 5 questions to be answered focus on?"%—"i‘?&ﬁﬂﬂgﬂ,igﬂiﬂﬁt
%‘E&ﬁ%ﬁ'\‘ﬁﬂaWﬁﬁﬁ&ﬂ!ﬂtﬁﬁ?ﬁﬂ*ﬂﬁ&gﬁﬁﬁo BRAE R B EAAE RSP S A~ 6] B4k o F
BRI . 4ESCHYRTAERBSr Rt 5 ’f*fﬂ@ﬁfﬁT#ﬂlmiﬁﬂﬁﬂE%ﬂﬂm%Zﬁﬁ%ﬁ?ﬁtﬂ : “The purpose of
the survey was to discover the views of the students on a number of matter of personal concern. ” , /%) ] 1 i34,
REANFER @A, 5 @ ,Q—'/I\ﬁlﬂﬂ?ézf“giﬁﬂ‘lﬁé";%:/I\WEE*T“EKE@&?";
%E/Nﬁlﬁﬁéé?“ﬁ!@"ﬁﬁﬁ@fﬁlﬁ,m:%Eﬂiﬁ%,ﬁ##ﬁﬁ&@]—-’i‘ﬁ?ﬂ‘l#l&ﬁlﬁ?ﬂ’l‘&?%c
MiX 5 ¢§E§Wlﬂ@*§.ﬂﬁ?4\Aﬁ@,ER,EﬁﬂggﬁfﬁE D),
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45304 19 B1“What colour was chosen as the most popular in the survey?” 555 18 BI4H R VBT AR
A, 4 SCH AR 20 Bi“Why is it difficult to reach any definite conclusion from the survey?” JE— 4~ HENT Y
B9, R A AR TR B R 4 (I R AR D, B A A 0 RS A R4S HENT Y IE TR O
2. S0 b4 SC4E R IR “It is not easy to reach any definite conclusion based upon such a small sample of
students from such widely different backgrounds” (%A R ¥ M B RN S H)) —HESWHFMSH T
Mgt BICERAYE A R BBV B, ST R B R AR K. FEWHIE R, KA E E RKBMT XH
HigmMER , R UL .
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WF 7 BRI R 1% A 1R S AR AE Y — RV BT B, R IBE NS B 0T B AR B 1K
RO H 2 —, 3t 20 M, 20 4, HEAE R 1/5.
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T RS, RAS I HE ; (4) %4 SCHI N A EN SR, R EE i IE Mg HElT . R, BN F AT %
LA T S R Tl AT Sy BR AR R ISR I £ .
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55 R SR — TR AR LAWT 0 IR IE A U T ISR AR A 42 B IR R, BRAS RO (Bl
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FIWT FI IR AG TR o BRI RE A Sl 2 A A S ] P R R o

(2) E A3 Bl 2k

WT A7 A 28 R 3 2R ELEAREE ) TR B IR A S RIE IR T EAMIRARN R, GEmAR
% [ 7 N3 [ B9 R R R

FEIEH B9 7% B BEE o & il Bl — o5 A0 Mk, I3 A9 IR 4K & AR R SE SR B I RE IR, SE4EIX
$B o N = WL e < s e TR R R R 2

(3)ig4Z 1l 2k

W A3 AZ T F IR R ) — D IR . EHCF LR RAVAE LB, W T IIGRET 43 3 AT

OHIZS X —Br By EBAT S R VIS0 A K B8 ) , a0 EE 8B 3R | RN i (A B A Y 44 17
7 s Bl P AT 1R | A I A

QU E . WS R NGRCALRIA R 1 o WIS VIR RIS FF 4, 2R 2 (i) B et O , IO 0 Y 48 44 78T 2
TANCEAR B4 C . WS SR, LTS8 JLALG L SR A S S IIUR , B H E BN A RIAT .

QFik, Wise— A FERETEE , A RS T M 25 # I , RS, H B R3S SR RO
BB PSR, TSV A% 3, BN M B, £ 00 AL, WT 58 /8 32 207 X B B S, anut R &IN5,
Bt ISR KRR .

2. Rik$BT

(1) £ 47 =% w4 &, BRG] V5 45 THT A FE T

TEAEHEH L S, PRGN R , BGE S T R R Bk . BRI IT 4G #H — B Direc-
tions, A\ 3L ER4> Z FB I 3X, M B 3SR , Section A B 45 T — N XTiE LB AR 4 GEIR BT A& Direc-
tions , AR 2 5 TT LA JFH 53 Bk Bt 18] S ) W5 365 T P 6 43 0T , A v 90000 % A = R BT AEHRE LS B IR R, DA T HP
5 (ERTEF WT , I0) Y00 e R T Xof 2 e O 1 M X R AR K R Bl

(2) FHR B B METFWw B X8

TR R TN 5 7 AR FCRRRE Bk T B 7 W I A 4R (8] A9 () A, 33X — S AGE B F X A AR 4, 1 B (R 3L
38 N T4 ST S8R5 o

A 135 Je 4 L 5 R 114 43 B SR, X i 40 O 4R 18] R & LA wh-FF Sk 119 45 Bk BE 9] A1) (what, where,
when, why, who, which, whose, how %, ). 1999 4E 1 A 0 /1% BEXHEF 43 10 R, 7 BRELL what 3
1], 2 SRR LA how 4815, 1 SEBILA why $28), AR, RHERRS Ak 2 S AR Sl Se 58— AiE e R
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B B BB SRR, SHEA S 3R N TRAMEBR EEME K. X3 (9 — 75 T g iR 5
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B RE UL . A BEEARES TR+ B0, &% ARER 7 B T B AR A8, 33 0k B SR 4 A 5l R [
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BOAHEAZEIER, VA B 3 1A R S A BERAWR , B 4 SO A7 GRS GIEUE S I NPy SR Py
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%ﬁ%mﬁ%%ﬁ#&ﬁﬂt—'Ejﬁilt*ﬂlﬁiﬂ*ﬂfu,fﬁfb%mfﬂﬂs’i)‘c%ééwﬁlm}féﬁo 740 3 4~k
FEELE S JE LS50 43—, H BOTET AR A T 404 A 1 064 S 2 PRI TE 50 3 A3 T A7 4
PHAILEFRIT A BB |, % A iy IR 15 W ARZFh.

(5) R RIFROMMIRES

S A R MBI R, S B R, Wr Y, SR RS A1, 4 7 Lk 0 SR A 30359 8% A4 F 0 R
‘lﬁ,?—ﬁ%‘%*ﬁﬂ%,ﬁ%iﬁ?%,lﬁi)’&##ﬁﬁﬁﬁ?"ﬁ?i&o ﬁﬂ%NKE%%%ﬂEE@_,Xﬂ\ﬁﬁ?&ﬁ&,!ﬁﬂ
HEET T —, AR,
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@ What’s the main idea of the passage?

@ With what topic/theme/subject is the passage mainly concerned?

@ What is the passage mainly about?

@ The passage deals mainly with

& Which of the following statements best sums up the whole passage?

® The best summary of the passage is

(@ What is the best/most appropriate title for the passage?

® The title that best expresses the idea of the passage is

(@ The author’s purpose in writing this passage is
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Americans are people obsessed with child-rearing. In their books, magazines, talk shows, parent training
courses, White House conferences, and chats over the back fence, they endlessly debate the best ways to raise
children. Moreover, Americans do more than debate their theories; they translate them into action. They erect
playgrounds for the youngsters’ pleasure, equip large schools for their education, and train skilled specialists for
their welfare. Whole industries in America are devoted to making children happy, healthy and wise.

But this interest in childhood is relatively new. In fact, until very recently people considered childhood just
a grief, unimportant prelude to adulthood and the real business of living. By and large, they either ignored chil-
dren, beat them, or fondled (& #E) them carelessly, much as we would amuse ourselves with some little dogs.
When they gave serious thought to children at all, people either conceived of them as miniature adults or as pe-
culiar, unformed animals. :

Through the ages the experiences of childhood have been as varied as its duration. Actions that would have
provoked a beating in one era elicit extra loving care in another. Babies who have been nurtured exclusively by
their mothers in one generation are left with day-care workers in another. In some places children have been
trained to get through dangerous mountain passes, and carry heavy objects on their heads. In other places they
have been taught complicated piano concerto( pZEH ) .

- But diverse as it has been, childhood has one common experience at its core and that is the social aspect of
nurture. All children need adults to bring them up. Because human young take so long to become independent,
we think that civilization may have grown up around the need to feed and protect them.

1. The main purpose of this passage is to .

A) show that Americans are overworried about child-nurturing

B) argue that children, though they are not adults, should be respected

C) propose that our civilization should center on children problems

D) call our attention to the social aspect of child-rearing
2. What is paragraph three mainly about?

A) Children’s experiences vary from place to place and from one period of time to another.

B) Some children behaved badly but they received extra love.

C) Children are treated differently in different areas.

D) Children have quite dissimilar experiences in their childhood.

BAORE, ECARME B 8 Sk B AR 260 JLTE IS 9 BIR | 45 208 A 5 E AT %) 1
18 AEHEE b, BE G5 1) B pG A 5 7 TILBER IR B FE SR . R, 7 5 25 16 B (B IR S — B )
RXEMEE RIS BA F A . . . childhood has one common experience at its core and that is the
social aspect of nurture”, 3R , D) Wi &4 1 HipY IEMG &%,

B2BRB =B R, B BREUME RIS RM, G R BN [ B 0 AN [ s I ) L R
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O HEKEMN—TH, k2 MG. D) (A ZF R EEL AT ) AR S 005
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30. What is the main idea of the passage?

A) American firms are different from Japanese and German firms in human-resource management.

B) Extensive training is indispensable to effective human-resource management.

C) The head of human-resource management must be in the central position in a firm’s hierarchy.

D) The human-resource management strategies of American firms affect their competitive capacity.

CEETFFAE BRI Y , B T 2 28 Al f sk A A A Ve TR A5 T, Y i AT PR (X —
HHEITF TABIBAR AT ) ARARE A G WMGAR A RS, e RS2 E A T 8 CA 8%
FEBEAZEN, A RAOENE G EEHES AT A RS - S BART TR IEAEE AR Gie , I T vk 2%
T EARBERHERR , B R 50 3 E 2 7] RIZES 7. HUH AT O, 2 S oo SRAR R - 5 4 ) AN 1 5 U
BRI TE S . WRLR T D) NE. A) SOVBERE AN 41T, A7 AR AS AR 22 186, B) 191
MR SCHHRE .

4n:2000 4F 6 A 485 30 /NS

30. In discussing the maketing concept, the author focuses on
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A) its social impact C) its possible consequence
B) its theoretical basis D) its main characteristic
R B AR TR E R A B 2 BT RIS TE AT RS0 Y FURAE PR AR EE N P A Y
8 B | A B A A R HUARAE 58 = BB XX S AR E AT 40T HF HASBIAEA . Btk
AL, SCEE R A B A AR B T, T 5 Ak S B, AT AR AY S SR, LA RIRIS BRI TC R, # D) N IERA
BR.
. {EHRM R SER
VeI AR B R B B X3 — 3k WA 00 75 BE A1 . A5 Bl SRS RGR , 5 4 AT B VEH 1Y
A ;A B AT 5l A A 0 B R OB L B IR A A AnEl i), HERTE & A9IB <. W MAIRR T RA -
(D What is the author’s opinion?

@ What is the author’s attitude toward ?

@ What does the author think of 2

@ How does the author feel about ?

& Which of the following can best describe the tone/style of the passage?
Bl 3C

Farewell, rutherfordium. So long, kurchatovium. All hail unnilquadrum! The bland and faceless scientists
at the International Union of Pure and Applied Chemistry (ITUPAC)have decided that the names for all newly
created elements will be equally bland. No more will the creators of a new element be able to name it after a fa-
mous scientist(lawrencium) , city (berkelium), or state(californium). Instead, the names of new elements will
be systematically based on their atomic numbers, beginning with element 104, which will henceforth be known
as unnilquadium(un=1, nil=o0, quad=4).

Some investigators are thankful that the committee has not been able to extend its influence into other ar-
eas of physics and biology. If it had, the quark might be simply particle. By the same token, Legionaires’ dis-
eases might simply be infectious disease 203.  Science might become orderly, but it would be a lot less interest-

ing.
1. What is the author’s attitude toward this new system for naming elements?
A) Indifferent 1B) Apparently approving C) Hard to determine D) Slightly critical
2. How do investigators feel about the new system for naming elements?
A) Insulted B) Disapproving ) shocked D) Grateful
3. Which of the following best describes the tone of the passage?
A) Furious and indignant C) Humorously critical
B) Neutral and formal D) Cautiously optimistic

MBS —AE Ve & D B 6 45 7 4 ) (science might become orderly) , {HBEHRAR K (a lot less
interesting) , HUHCHENT A/ & 5B AR RITR 24 AR B AR . 8 1 B IEHERME D). HE =&
BATENE , 2 S AR BT i A ) B A A 5 A B, — S0 R X I SRR 3 988 5K 1Y Ml ( thank-
ful) . Y ARVEAEE TIN5 2 ik B) MIEMIEIN, 1EH —FFL R —Eih¥ TR Z
FRDL Farewell”, “So long” , B SR AR . B BJG —AENTBEEO AR RAEE, 5B—.58 3 ™
IEFZRE DR T .

1. o3

B WA > B A MR o HENTEE A B A X BT AR AT H T HEFR R RE S .
AL T3 SRR , AN 0T 2 R (B MRS IR A R R R A S, HAENEHFHILESE EERE
% BB AP AEE R ABIE SR I G RE . MR, AN ERL T ILA:

(1) ZMIER I L ARE 230, M3 2 /e ;

(2) FIFHAREFR A B, B A e

(3) BRI 5

(4) AFEAK 10 A5, th AS B 3= AR T 5

(5) X 5= 3 A A

(6) MR FRR FRERW.

) 27— h

(D It can be inferred/concluded from the passage/paragraph that 2

(@ We can infer/conclude/draw/see from the passage that

@ It is implied in the passage that

@ Implied but not stated:

& Where would the passage most probably found?

BN : 1998 47 1 H fy EES 33 B
33. According to the passage, alcohol has something to do with bad breath mainly because 5




A) it keeps offending bacteria from reproducing C) it kills some helpful bacteria

B) its smell adds to bad breath D) it affects the normal flow of saliva

X, I P SR R by M 9 7 A S B Dok 8 15 R 119 (bad breath can happen whenever the normal flow of
saliva slows) , A2 H AR 2 — (Alcohol, hunger, . . . —anything that dries the mouth produces bad breath) ,
B T HE BT, YR RS S DR R W 1 P A SR R B R T SRR Y D) RE SR, X R— B
ﬁﬁo

X4n:1990 4E 1 A i Bag s 31 &

31. It is implied that fifty years ago p

A) eighty percent of Americans working people were employed in factories

B) twenty percent of Americans intellectuals were employees

C) the percentage of intellectuals in the total work force was almost the same as that of individual workers

D) the percentage of intellectuals working as employees was not so large as that of industrial workers.

CEPBEL 100 4ERTHRA 1/5 BAZR F A, S50 AERTHE P R E 15 T sk 3% 435 30 1, i 4%
RE 1/5 MARZR T A, HS KA R P23 BRI PP B SR A 0 R SR A K, [ I BT L HE BT L S0
AERT 8 B P AR S T8 Le Bl s /N F el T, B D)RRIEWHEIN . B4 % A4 2 B WA fi] Rk &4
B A FRIE B KRB BB & & X,

4 :2000 4F 12 A 638819 27 /M8
27. It is implied in the passage that holding a university degree

A) may result in one’s inability to solve complex real-life problems
B) does not indicate one’s ability to write properly worded documents
C) may make one mentally sick and physically weak

D) does not mean that one is highly intelligent

HRYE SCHE S — BRABIMSS A AT 0, “ SR 1T , IR A 25 45 Fb BEIE A B B 323 #OE 2 P E A5 69 A FE RS R
Bt B — kLA T, 7 phy I TT BT D) I8 .

FAN:1995 45 6 H ORI 35 5
35. The passage is most likely a part of

A) a news article B) a journalistic interview C) a research report D) a preface

2 R SR DT ST P R FIBT R RIBTE T P ROIBE S 155, 04 45 B R H BRAY as this book indi-
cates (YRANASF3 BT BAEY ) L B2 FF 3L 9 The importance and focus of the interview in the work of the print and
broadcast journalist is reflected in several books that have been written on the topic. Most of these books. . .
stress the “how to” aspects of journalistic interviewing rather than the conceptual aspects of the interview, its
context, and implications(iX B2 307 AR TEFEM R L6 Hpg i 28) | PARTEE MR G F HBiE i 2
i)

HEWT SRR AR A0 B B T, 3 B B R R 5 16 15 S UEBASCEI AR, 4053 (book review) . BFFTIR
# (research report) . J 5 (preface) .37 B (news report) %, 45 [ FRATERA PR P A BE i FHE S
931?5{,X?ﬁiﬁf“ﬁ&g%_ﬁ%%iﬂ,%&?%Tﬁllilﬁ’ﬁ%ﬂiﬂumﬁﬂiﬁﬂﬁﬂﬁo

V. A8

B T R R AR R SR, %%,E%ﬂﬁ$§ﬂ%ﬁﬁﬁ&%§ﬁﬁﬁ%é¥ﬂﬁ%ﬁﬁﬁo —
LR , 4045 B B 2 SR AR RE B 3 MBS h 3R 3], B2, 4045 8 — 75 T i e 22, 53— 77 TG 40 35 4 S0 B o i 7
BEERKBER, B, 4095 B1R 20t 6 U B 14 A R AE B WA (skim) 42 SCRY , b o 2 B8 B0 S s 4 4
HIE S hREMEES, B 58 AV RS 350 BT s 4 B B SR A 10 B i, i AT LR K545 Bt .

A2, LB TR ETERHRB? LN R, LTIl A S .

* SEBREA RN EEF MM, 0240 .3 H a5k EERES, AREESER L,
A for example, a case in point, the most important/highest. . . , it is essential &5 Shr.

K FRARERAKFRAIAE, 40 because, since, as, so, therefore, hence, with 2544, BL7ESMASEIE , as a
result, consequently, give rise to, derive from, originate from, in that, A X% B %5 47 8 S %hi50E .
ASAEIZEE RS, FREE R LB R,

K BRI LXK R BAE, W while, whereas, however, but, although, yet, still, in fact, on the
other hand, on the contrary, conversely %, WA S Al R TR LR,

Y FF BRI ) 3 S B3 46 (9 BT, AR 28 5 H L AN “Which of the following is NOT true” Z 352 3k 4]
@O ¥

B3

Predictions of large populations of robots in industry haven’t got to come true. The market for big robots
is now oversupplied, and the impetus of the robotics revolution is claimed to be with makers of machines that
handle a few kilos at most.

“Heavy-robot manufacturers are in some difficulty in finding customers. There has been a disappointing
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growth everywhere in the numbers of robots, so we have to admit we are either deceiving ourselves or that the
market is slow growing,” said John Reekie, chairman of Colne Robotics. “The following things must happen
for the robotics revolution to occur. We must achieve widespread robot literacy (FEASHIIR) ; just as there has
been a computer literacy program, there must be a robot literacy compaign. We must also achieve not just a cut
in, but a collapse of robot prices. Finally, some kind of artificial intelligence needs to be available. ”

Colne makes educational robots and machine tools. It is small compared with companies like Unimation,
ASEA, or Fuyjitsu Fanuc. But CoLne and others—like Pendar, which makes robots in Wales, and departments
in universities—possess an advantage over the giants. The big companies sell very expensive robots to businesses
with expert knowledge in automation. The little companies make robots for teaching people, and now they have
realized there is a need for small, low-cost robots that they can meet.

The little companies either bring their educational machines up to an industrial standard or design from the
very beginning. One technique that they all adopt is to choose standard components where possible. The major
cost of making both their models is the electronics, which will fall in price.

1. The future market for robots belongs to
A) manufacturers that produce small robots
B) manufacturers that supply productive robots
C) makers of robots that weigh only a few kilos
D) makers of robots that will accelerate the robotics revolution
2. Which of the following is NOT relevant to the realization of the robotics revolution?
A) A compaign to educate people on knowledge of robot C) Easy access to artificial intelligence

B) Sharp reduction of prices D) Production of giant robots
3. To compete for a bigger slice of the market, small companies have to lower further the cost of their products
by
A) increasing the mechanical life of their robots C) increasing the varieties of low cost robots
B) using more standard electronic parts D) limiting the size of educational robots

&5 1 A EEYNY AR AT IZVLIE? RS —B, X F Tk RHALE LA A
QTS A SE B, K AEUPLEE A ATk TR, HEshPL 8 A Ari 3h TEF/NERIPLEEANET=H. FTEL A)
Xﬂ‘c

w52 WP BRI N 2. VEE TS| A A9 John Reekie 15+ AERPLEE A E R R FNR =
robot literacy, collapse of robot prices, artificial intelligence. 4 AT R D) 2B SRR, B D)X o

3 T E AL O BUE AT 8, /NG F LA ] AR AR A WG — B, AR ERE
W5 HL SR FIMLES AR AL, B ISR BT T T . AL b Al fTTR FE B I R N SRR R FT B R AL
B)RIEFER

B

With the coverage of a wide range of studies, from simple description and investigation to the construction
of sophisticated experiments, research is a process which is almost impossible to define.

Research is difficult to define because

A) its objective is usually uncertain at the beginning

B) it can involve simple as well as complicated procedures

C) it differs from one academic field to another

D) it includes, the construction of sophisticated experiment

SRR T with G R IR EIX — A&, MR PR &k i B) . H AT B S W, A REE
BRIUR A o T DAL B A B 4 , A RE AL A W UL I

V . iRiCE

iﬂmﬂiﬁﬂﬂﬁ%ﬁiﬂmL‘FIHMW%EEW%%’W%‘F'ﬂgfﬁwﬁ)‘(ﬂﬁﬁﬁﬁ o TERKRRE b, #E
PR YRR BT SCHY IE BB W LA PR A A .

@ The word “..." in line. . . means :

@ The word “. ..” in line. . . could best be replaced by )

® By “...” the author means :

S RI B 2% % 2 A o SRR SN AR TR (B9 A5 A2 P T T

1. PR e

28 PRI S 3 LR X o 3B b R A4 R, — T T o7 HE BT 3C SR SRR AR AETE 2
B H 3 55— 7 T R p HE IR L DL R S

Blan . :

One important difference between bumble bees (K ##) and honey bees is that the former has a much
longer tongue. It can fertilize plants which the honey bee’ s tongue cannot even reach. It has been said that the
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bumble bees won the Bore War! The horses that helped to win that war fed on clover( =), a plant which
only the bumble bees can fertilize. Without the bumble bees there would be no clover.
What does the verb “fertilize” in paragraph three mean?

A) to make. . . productive C) to make. . . grow faster

B) to put fertilizer on D) to make. . . healthy

fertilizer (AEXSH) 4> H WLiA] , fertilize 77 “HAE "t 2% A= Mo AR R sk 25 5 B AR ) 19 fHEM EFXH,
EE#E fertilize clover(—FhFFIERYEL) {# clover AR BT, AR SR T SR R, T RS T AR, 1B
BEFRES & B R T4 38 7000 (A 152 09 1 B R AT HE I, fertilize A 22 i --- 2 4y ™ - H TR ST
BB AREBER. B) R LEHR AT,

2000 %F 1 A #3151 28 /N
28. According to the passage, “to move as much of these goods as possible” ( Lines 3-4, Para. 1) means

A) to redesign these goods for large-scale production C) to sell the largest possible amount of goods
B) to transport goods as efficiently as possible D) to dispose of these goods in large quantities

SR IR ) S BTE T X4 B8] move 19 BRAR . TEIX B, move F B Y — 8 o 5 L ) S .
7o LR B S A ) SOt AT LASE 3ot X T S A 6 4 A ISR A A P AR 3 iR AR Y
BT BT b “ move” B 7= 5y , TS 30 XA 758 » B “ A2 7= RIS 85 ] el , 7 5% W, move fiA] X
TEX BAH YT sell, Bt C) MIEHER.

2. 407 R

A1 ERIFEAR T . B — B AR A $EiA) SRR B Y — S R AE bR S0P A 2R AR AT 0 8 4]
A B, RS B TR LT S0, R PR R A PR AL RELA S

(1) FFARE X . R

BEFAERHANART , M &R AAE | F 30, U HR F SCH b TR 38 | sk — PR AR R %, 0.

I would like your candid opinion, direct and truthful.

direct I truthful Xt candid BT A BLEH , f i, AT H#EWT candid R B R .

(2)F A5 230

FU#&E%%L?S—?T?SW*%,Eﬁt.ﬁf?ﬁwﬂj§~ﬁiiﬂﬂ‘Jk§kﬁ,ﬁo an .

This kind of medicine is effective in curing carditis and other heart diseases.

BEAEZ)2E 45 R BRAT carditis (L LA ) heart disease(LsJIEHG ) i —Fh

(3) ) X bE 36 B4y

Tom is quite talkative, whereas his sister remains reticent all the time.

1 whereas BT A1 J5 B 404 85 BARXS , BI reticent K3 F 2 talkative PRI SCAR) 08 IHe AT ) A g
wRUTRET "2 8.

(4) F) A3 44938 3% &0 18 4

F B AR IAIZR R X W iR R AR B By . e, AR EE FTZ bene- 38 B “IF 97 AR
dict BRER“UL” , AT AW benediction UL UL T R GG I B I 6T 0 — 255 e BB Z R Y
FR MR TR) B SR R R I ] S R FEARTIRR | FE K45 §1i7 L,

(S)FI A _E T X R 518 B4 A H i

?E?‘I'ER_F,J:“F)‘C%ﬁl:tﬁl%ﬂﬁ,W‘tﬂﬂﬂ%ﬂﬂﬂgﬁ])‘(ﬁﬁﬁlﬁl,Eﬁfﬁi%’;‘iﬁ?}ii@!ﬁﬁw,ﬁﬁ
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One day in 1935 the management of British Southern Railway announced its intention to close the branch
line from Lynton to Bamstaple in North Devon. The proposal was received by the local inhabitants with angry
protest. For them, the locomotives and the stations of Devon had become as much of an institution as the vil-
lage church or tavern. Moreover, the line ran through the heart of a popular tourist district. What would the
holiday makers do without it? Closing down the railway line had been unthinkable, yet now some busybody of -
ficials in remote London was threatening to destroy it with a stroke of pen.

The word “busybody” most nearly means

A) efficient B) honorable C) meddlesome D) businessman

X BT B R RS I A B e 2 54T 6 B — 2ot 3 fE ROR AR SCIk E & A B EE
BHIBRBELR o 3 ¥F I8 H R K2 —4% (a stroke of pen) B[R, X 2430 R AV W B A . franiks
—F , remote il with a stroke of pen S HOAR AR AR S SE W 7 A G I TE A B, 4 B R R B W A 4] 44 )
78, B ARERR (R R MR RAOFE) XA 5 B R efficient(Z{# ##) . honorable( &
BAEY) | businessman( B A9 ) 7 SI0R 2 2245 (R 35 , Z It — 2% (meddlesome) .

IV. iB A& X ( Paraphrase)
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(@ The sentence/expression “. . ." means/implies that

@ What does the sentence/expression “. . ."” mean/indicate/suggest?
@ The sentence/expression “. .." can be paraphrased as

HGX Z G, ﬁ%&ﬁf&ﬁiﬁmiﬁ;ﬁ&%%i@ﬂeaﬁ%ﬁ] A R AR, N S
) F45 4 , ST LX) S5 S M AR T S 3R R A T & Yo

B0 :1993 4E 6 A A8 956 30 8
30. What does the author imply by saying “living space. . . is figured. . . also in cubic volume above the earth”

(Lines 9 — 11, Para. 3,Pass,2)?

A) Our living space on the earth is getting smaller and smaller.

B) Our living space should be measured in cubic volume.

C) We need to take some measures to protect space.

D) We must create better living conditions for both birds and animals.

X—RIEE S RS L BTG SRR V- s R, L R A 6], WS E & S HR R B R FF %
2 E B conservation(fR1 H SR FFBEFNVTIR ) AR . ShH A9 A 1725 Bl AR % A A b &2 ], B,
RANBEZ R bR LB R R, D)REER B DWREAEEE R T —EEME: create better liv-
ing conditions J&JFRRE ISR LS, M birds and animals /& man’s fellow creatures B & . CTHF
PREERE A, B o IE# , (H3X — B A e .

.

It would be a mistake, however, to believe that the New World, as a whole, was an oasis of civilization in
the European sense of the term. America had many faces, and to its conquerors it offered a variety of aspects.
Christopher Columbus, when he first went ashore, was greeted by the Lucayas, the agricultural and artistic
people. The Spaniards, on the other hand, were shortly to meet a completely different sort of native, the fero-
cious cannibals of the Caribbean.

When the author says “America had many faces”, he probably means that the people

A) had a variety of facial characteristics C) were sometimes barbaric but wished to be civilized

B) came from many different racial backgrounds D) were at various levels of cultural development

AR 2% 2 Xof Hondy 4 5 35 “ America had many faces” 76 B4& _FF SO 050k & X9 FEME . 2BIHEHE
RBUR BT B SCHA & AR BL , B3RV A R, 240 4% 4> ¥ 9% 19 ST 2 BE R — (a variety of aspects) o B
I AT HERT , AL BY many faces J&HE CHHRIFREAR T & , 6 D)IEM. A) B)¥F faces BEARESL T, 5 5 30k
BAA. O 53hHNEMFE.

F3101:2000 4F 12 A #rikRR % 15 /s
15. By just the tip of the iceberg” (Line 2, Para. 8) , Siegel suggests that i

A) half-brain sleep has something to do with icy weather

I3) the mystery of half-brain sleep is close to being solved

C) most birds living in cold regions tend to be half sleepers

D) half-brain sleep is a phenomenon that could exist among other species

VAR SR, T AR S 5 f5 — BREATHEW o X 2 28 A9 BT FT S RE AT A SR AR O £ T ARBERER . M.
Siegel Ui, fliIA A : S AS A BRAR © HJRVKILTE K A9IR— " o AT 253010 R A sb 58 =& P b et
B RIEZRBMB]F " D) B,

=. FiR#EIS

IR AR ER S O 5 E X 25 PR R ST T AR B B AR T — S X, P SR E W BRI — sk gt
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